Sensor Type = 0x68, 1, 0x05

TC Linearization = 0x68, 1, 0x06
RTD Leads = 0x68, 1, 0x07

Units = 0x68, 1, 0x2A

Scale Low = 0x68, 1, OxOF

Scale High = 0x68, 1, 0x10

Range Low = 0x68, 1, 0x11

Range High = 0x68, 1, 0x12

Process Error Enable = 0x68, 1, Ox1E
Process Error Low Value = 0x68, 1, Ox1F
Thermistor Curve = 0x68, 1, 0x26
Resistance Range = 0x68, 1, 0x25
Filter = 0x68, 1, 0x0E

Input Error Latching = 0x68, 1, 0x1C
Display Precision = 0x68, 1, 0x14
Calibration Offset = 0x68, 1, 0x0C
Clear Latch Request = 0x68, 1, 0x1D

Limit Sides = 0x70, 1, 0x05

Limit Hysteresis = 0x70, 1, 0x02
Set Point High Limit = 0x70, 1, 0x09
Set Point Low Limit = 0x70, 1, 0x0A
Limit Low Set Point = 0x70, 1, 0x03
Limit High Set Point = 0x70, 1, 0x04
Limit Clear Request = 0x70, 1, 0x01
Source Function A = 0x70, 1, 0x0F

PMXx[L,M][2,4]xX-[3,5]AXXXXX

1 analog input
2 DIO
1 limit loop

4 outputs (Digital or Process)

CIP reqisters -

red text

Output Function = 0x6A, 1, 0x05

Output Function Instance = 0x6A, 1, 0x06

Output Function = Alarm
Output Function Instance = 1

Output Digital Function -

Overview

Instance 1 Source Value

Source Error
Input State
Output Power

Output Value

0x6A, 1, OXOD‘

0x6A, 1, 0x0 F,

0x6A, 1, OXO§
0x6A, 1, OXOQ,

0x6A, 1, Ox07,

Time Proportioning Output
Options ‘C’, 'E’

Output Function = 0x6A, 3, 0x05

W1, X1, Y1, or
J1, K1, L1

Output Function Instance = 0x6A, 3, 0x06

Output Type = 0x76, 3, 0x01

Output Function = 0x76, 3, 0x02
Retransmit Source = 0x76, 3, 0x03
Output Function Instance = 0x76, 3, 0x04
Scale Low = 0x76, 3, 0x09

Scale High = 0x76, 3, 0x0A

Range Low = 0x76, 3, 0x0B

Range High = 0x76, 3, 0x0C

Offset = 0x76, 3, 0x07
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Output Function = 0x6A, 4, 0x05
Output Function Instance = 0x6A, 4, 0x06

) Output Function = Heat Power ) Output Function = Off ) Output Function = Off
Output Function Instance = 2 Output Function Instance = 1 Output Function Instance = 1
Output Digital Function - Output Process Function Output Digital Function -
Overview - Overview Overview
Instance 3 Source Value -2X6A.3. 0x00, Instance 3 Source Value |-2X76.3.0x12y Instance 4 Source Value 2X8A-4. 00,
Source Error M Electrical Output Offset 0x76, 3, 0x0 Source Error M
Input State |-2X6A. 3. 0x0 Electrical Output Slope -2x76.3. 0x0 Input State |-2X6A. 4. 0x0
Output Power 48>0X6A’ 3, 0x0 Analog Out Control Operation 4>0X76’ 3, 0x11 Output Power ;&OXGA’ 4,0x0
Output Value M} Output Value 0x76, 3, Ox1 Output Value M
) W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
T|m<-30P;Icg)nosrt|8n|nEg O}gtput Process Output Option ‘F Time Proportioning Output
P Options ‘C’, ', ‘K’
Alarm Type = 0x6D, 2, 0x0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 2, Ox0E Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
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0x6D, 1, OxOQ‘ 0x6D, 2 OxOg 0x6D, 3 0xog‘ 0x6D, 4, OxOQ.
Alarm Source = Analog Input Alarm State Alarm Source = Analog Input Alarm State » Alarm Source = Analog Input Alarm State
0x6D, 1, 0x04, » Alarm Source Instance = 1 Alarm Latched -0X6D. 2, 0x04, » Alarm Source Instance = 1 Alarm Latched -0X6D. 3. 0x0A) Alarm Source Instance = 1 Alarm Latched |-0X6D. 4. 0x0A,
| 0x6D, 1, 0x0B, Alarm Function - Overview Alarm Silenced |-2X60. 2. 0x0, Alarm Function - Overview Alarm Silenced |-26D. 3. 0x05, Alarm Function - Overview Alarm Silenced |-2x6D. 4. 0x05,
Inst 2 Inst 3 Inst 4
—CFOXESD' 1, 0x0 nstance Alarm Clearable —’—’—CPOXGD 2, 0x0 nstance Alarm Clearable —’—’—CPOXGD 3, 0x0 nstance Alarm Clearable 4C>0X6D' 4, 0x0
0x6D, 1, 0x1 Alarm Working Process Value 0x6D, 2, 0x1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
0x6D, 1, 0x1 Output Value 0x6D, 2, 0x1 Output Value 0x6D, 3, 0x1 Output Value 0x6D, 4, 0x1
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A, %% 4 O
‘05, Ss, 7
2 O@ @6\ 7 '?@ (// C 9/~ L? (
¢ fr R &5 /e/é s /A@/ /7; D, ’77 S
. 74 // O
GGO‘S‘Z/)@@;?)O 6‘%\9@6/'? '? 9 ’O’ <° %Q o ’y >, Q} fe ’%'? //77//,3,”7/::?’/;/ 6;0/; %\GZ@@/
7N (J s,
IRCISC CA /;,, 2o ’20 ”eé/ %O(/,L 206 //, % 0%, s e T v "o <0, Ser G/A"P ”o/, %S,
Lo % O © Sr S ’0' ’@s S o, 0, 9(,@ Co
bbbttty IS
R1, % Analog Input Analog Input Value (Unfiltered) 0x68, 1, OXO1# ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Analog Input Filtered Value 0x68, 1, 0x16 » Source Value M’—LM}
Analog Input Function - Overview Input Error [ 0X68.1.0x02 - . .
4P Instance 1 p. 0x68. 1. 0x03 Limit Function Block - Overview
T P
RTD Lead Resistance Instance 1 Output Function = 0x6A, 2, 0x05
Ambient Temperature [2X68. 1. 0x04y Limit Status 19x70. 1. 0x0 Output Function Instance = 0x6A, 2, 0x06
Electrical Input Offset 0x68, 1, 0x0 Limit State M
- 0x68, 1, OXOB’ 0x07, 1, 0x07 Output Function = Limit
Electrical Input Slope 065 1 Ox1s Output Value Output Function Instance = 1
Electrical Measurement X2 1. DX19y, . .
Output Digital Function -
Overview
Instance 2 Source Value 2X6A.2.0x0G,
Source Error [ 2X6A. 2, 0x0Fy,
Input State O0x6A, 2, 0x0
Output Power AOXE}A' 2, 0x0
Output Value 4}OX6A' 2, 0x07
K2, L2
Time Proportioning Output
Option ‘J’ is dedicated to Limit Function
Alarm Type = 0x6D, 1, 0xOF
Alarm Source = 0x6D, 1, Ox11
Alarm Source Instance = 0x6D, 1, 0x12
Alarm Hysteresis = 0x6D, 1, 0x03
Alarm Logic = 0x6D, 1, 0x05
Alarm Sides = 0x6D, 1, 0x04
Digital I/O Direction = 0x6A, 5, 0x01 Digital I/O Direction = 0x6A, 6, 0x01 ﬁ:arm h‘?mssetti°'.r‘tt=_%"%% 11’ %XOO21
Output Function = 0x6A , 5, 0x05 Output Function = 0x6A , 6, 0x05 AIarm LI% hi e -C()JmGIS 1X 0 '07' x
Output Function Instance = 0x6A , 5, 0x06 Output Function Instance = 0x6A , 6, 0x06 Alarm B? ck!ng B OXGDY 1' OX08
Active Level = 0x6E , 1, 0x01 Active Level = 0x6E , 2, 0x01 Alarm S.IOC Ing = oX g 6‘ 06
Action Function = 0x6E , 1, 0x03 Action Function = 0x6E , 2, 0x03 Alarm D'. eqc'nga G"D i 1"0
Function Instance = Ox6E , 1, 0x04 Function Instance = Ox6E , 2, 0x04 arm visplay = X_ o 1, UX
Alarm Delay Time = 0x6D, 1, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D
O(,/, O(,/, Alarm Silence Request = 0x6D, 1, 0x0E
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'401;;’6,)0'(\’70 402:,%0'2%/ I(ilrlit;tlljct)n —» Digital Input Value I(ilrlit;tlljct)n —» Digital Input Value ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
_ 4 _ S . S .
Active Level = 0x6E, 3, 001 4o 20,5%, Active Level = XBE, 4, 0x01 g 20,%, DIO F“r‘lﬁgggce gverwew DIO F“r‘lﬁgggce gverwew : Aarm State
Action Function = 0x6E, 3, 0x03 & % G Action Function = 0x6E, 4, 0x03 & "% G ____ | Alarm Source = Analog Input
Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Function Instance = 0x6E, 4, 0x04 ¢ ¢ ¢ Event Status |-0X6E. 1. 0x0 Event Status |-0X6E. 2. 0x0 Alarm Source Instance = 1 Alarm Latched
= SN =y Input State +2X6A. 5. X5y, Input State -2X6A. 6. 0x08, Alarm Function - Overview Alarm Silenced
e e
- . - . Input Value |-9X6A. 5. 0x0 Input Value |-9X6A. 6. 0x0 Instance 1 Alarm Clearable
Function Key - Overview Function Key - Overview 0x6A. 5. 0x0 0x6A. 6. 0x0
Instance 1 Instance 2 Output Power 48> Output Power —’—8> Alarm Working Process Value
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Output Error M Output Error M Alarm Working Set Point
Input State Ox6A, 1, 0x0 Input State Ox6A, 2, 0x0 Output State M} Output State M Output Value
] ] ] B5, D5 if ) B5, D6 if
Not in 1/32 DIN Not in 1/32 or 1/16 DIN DIO Options 2, ‘4 direction DIO Options ‘2, ‘4 direction
is output is output
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Sensor Type = 0x68, 1, 0x05

TC Linearization = 0x68, 1, 0x06
RTD Leads = 0x68, 1, 0x07

Units = 0x68, 1, 0x2A

Scale Low = 0x68, 1, OxOF

Scale High = 0x68, 1, 0x10

Range Low = 0x68, 1, 0x11

Range High = 0x68, 1, 0x12

Process Error Enable = 0x68, 1, Ox1E
Process Error Low Value = 0x68, 1, Ox1F
Thermistor Curve = 0x68, 1, 0x26
Resistance Range = 0x68, 1, 0x25
Filter = 0x68, 1, 0x0E

Input Error Latching = 0x68, 1, 0x1C
Display Precision = 0x68, 1, 0x14
Calibration Offset = 0x68, 1, 0x0C
Clear Latch Request = 0x68, 1, 0x1D
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R1,81,T1 >

Analog Input

Analog Input Function - Overview
Instance 1

Analog Input Value (Unfiltered)

0x68, 1, 0x01 >

Limit Sides = 0x70, 1, 0x05

Limit Hysteresis = 0x70, 1, 0x02
Set Point High Limit = 0x70, 1, 0x09
Set Point Low Limit = 0x70, 1, 0x0A
Limit Low Set Point = 0x70, 1, 0x03
Limit High Set Point = 0x70, 1, 0x04
Limit Clear Request = 0x70, 1, 0x01
Source Function A = 0x70, 1, 0x0F
Source Instance A = 0x70, 1, 0x10
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0x68, 1, 0x16

Source Value M’—LM}

Analog Input Filtered Value »
Input Error |0X68.1.0x02
RTD Lead Resistance M

Ambient Temperature M

Electrical Input Offset 0x68, 1, 0x0
Electrical Input Slope 0x68, 1, 0x0

0x68, 1, 0x15,

Electrical Measurement —————p

Active Level
Action Function = 0x6E, 3, 0x03

= OX6E, 3, 0x01 <@:">o%%,)
& e

Function Instance = Ox6E, 3, 0x04
Yvy

>

EZ Key

Function Key - Overview
Instance 1

Event Status OX6E, 3, 0x0
Input State |-2X6A. 1. 0x0

Not in 1/32 DIN

Limit Function Block - Overview
Instance 1

Limit Status 2x70. 1. 0x0

0x70, 1, 0x06.

Limit State ——————»

Output Value

0x07, 1, 0x07

Output Function = 0x6A, 2, 0x05
Output Function Instance = 0x6A, 2, 0x06

Output Function = Limit

Active Level = Ox6E, 4, 0x01

Q,
Action Function = OX6E, 4, 0x03 &/ O s
Function Instance = Ox6E, 4, 0x04 ¢ ¢ ¢

—» EZKey

Function Key - Overview
Instance 2

Event Status

Input State

Ox6E, 4, Ox0§’
0x6A, 2, 0x0§

Not in 1/32 or 1/16 DIN

Output Function Instance = 1

Output Digital Function -

Overview
Instance 2

Time Proportioning Output
Option ‘J’ is dedicated to Limit Function

Source Value Ox6A, 2, 0x0

0x6A, 2, 0x0RK

Source Error —2a 5 22Ty,
Input State -9X6A. 2, 0x0
Output Power 0x6A, 2, 0x0

O0x6A, 2, 0x07

Output Value ———=—"">»

K2, L2

PMXx[L,M][1,3]xx-[3,5]AXXXXX

1 analog input
0 DIO
1 limit loop

4 outputs (Digital or Process)

CIP reqisters - red text

Output Function = 0x6A, 1, 0x05
Output Function Instance = 0x6A, 1, 0x06

Output Function = Alarm
Output Function Instance = 1

Output Digital Function -

Overview
Instance 1

Source Value Ox6A, 1, 0x0

0x6A, 1, OxOR

Source Error —————»

Input State -2X6A. 1, 0x0
Output Power 0x6A, 1, 0x0

Output Value M
W1, X1, Y1, or
Time Proportioning Output J1, K1, L1
Options ‘C’, 'E’
Output Type = 0x76, 3, 0x01
Output Function = 0x76, 3, 0x02
Retransmit Source = 0x76, 3, 0x03
Output Function Instance = 0x76, 3, 0x04
Scale Low = 0x76, 3, 0x09
Scale High = 0x76, 3, 0x0A
Range Low = 0x76, 3, 0x0B
Range High = 0x76, 3, 0x0C
Offset = 0x76, 3, 0x07
O(%
R U ps
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Output Function = 0x6A, 3, 0x05 9 " “Ca %95 "% 9% s
Output Function Instance = 0x6A, 3, 0x06 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
; Output Function = Heat Power ; Output Function = Off
Output Function Instance = 2 Output Function Instance = 1
Output Digital Function - Output Process Function
Overview - Overview
Instance 3 Source Value [2X6A. 3. 0x0 Instance 3

Source Error | 2X6A. 3. 0x0R

Input State -9X6A. 3. 0x0
Output Power 0x6A, 3, 0x0

Source Value M

Electrical Output Offset 0x76, 3, 0x0
Electrical Output Slope -0X76. 3. 0x0

Analog Out Control Operation M»

Output Function = 0x6A, 4, 0x05
Output Function Instance = 0x6A, 4, 0x06

Output Function = Off
Output Function Instance = 1

Output Digital Function -

Overview
Instance 4

Source Value OX6A. 4, 0x0

Source Error |F2X6A. 4, 0x0F,

Input State -2X6A. 4. 0x0
Output Power 0x6A, 4, 0x0

Output Value M} Output Value 0x76, 3, Ox1 Output Value M
) W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
T|m<-30P;Icg)nosrt|8n|nEg O}gtput Process Output Option ‘F Time Proportioning Output
p Options ‘C’, 'J’, 'K’
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 1, OxOE Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
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Alarm Source = Analog Input Alarm State  |10X6D. 1. 0x0 Alarm Source = Analog Input Alarm State |12X6D. 2. 0x0 Alarm Source = Analog Input Alarm State  |12X6D. 3. 0x0 Alarm Source = Analog Input Alarm State |0X6D. 4. 0x0
—» Alarm Source Instance = 1 —» Alarm Source Instance = 1 —» Alarm Source Instance = 1 —» Alarm Source Instance = 1
Control Loop =1 Alarm Latched 0x6D, 1, 0x0 Control Loop =1 Alarm Latched 0x6D, 2, 0x0. Control Loop =1 Alarm Latched 0x6D, 3, 0x0. Control Loop =1 Alarm Latched 0x6D, 4, 0x0
Alarm Function - Overview Alarm Silenced 2X6D. 1. 0x0B, Alarm Function - Overview Alarm Silenced | 26D. 2. 0x0B, Alarm Function - Overview Alarm Silenced 2X6D. 3. 0x0B, Alarm Function - Overview Alarm Silenced 2X6D. 4. 0x0B,
Inst 1 Inst 2 Inst 3 Inst 4
nstance Alarm Clearable —CFOXESD' 1, 0x0 nstance Alarm Clearable —’—’—CPOXGD 2, 0x0 nstance Alarm Clearable —’—’—CPOXGD 3, 0x0 nstance Alarm Clearable 4C>0X6D' 4, 0x0
Alarm Working Process Value 0x6D, 1, 0x1 Alarm Working Process Value 0x6D, 2, 0x1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
Alarm Working Set Point 44>0X6D' 1, 0x1 Alarm Working Set Point —’—’—4>0X6D 2, 0x1 Alarm Working Set Point —’—’—4>0X6D 3, 0x1 Alarm Working Set Point 4“6[)' 4, 0x1
Output Value 0x6D, 1, Ox1 Output Value 0x6D, 2, Ox1 Output Value 0x6D, 3, Ox1 Output Value 0x6D, 4, Ox1
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